Fd = OO0 b BH
B A VR SR AR AL RIR  (HK)

AR 10 5 N,
AN N 0~65 i 0~60 & 0~55 %
AT 300~3000 7~ (-~ {1] 100 & H 5
I ] R
SITEE A5 Z) GRECEIR & 45538 B R E 480 2500 FF)D

RN 30 =

LIS X b

S
Bie s (1355 )

[EREET 31~365 1 @ ERERVRTIFEX 1 r:fk, X 131 F) & e d g

R B AR S o SR SRR S 9

s v (Bl i & - a =) o )
i “H’E B E X 2.5 (3% X BRI - G £ HE 365 <)
senpapas | PN BRI S SRS RRELRIS.L 5

%JE@ CREREREIRE XS [y X BRSO 5 B C e RTIEL 365 )

e e £

RV X 0.5 [ X EREEEE By - (1365 )

= IEALIRA [ o — o
PRI | hemons X 0.25 % X MBI - (b - Ok ) -
SEHIRE | IR X 1 8 (G EIREEE6 TR - B - D
e S R, -
" s BRI X 2 % i -5 BT 35 H - D -
BRI | EH AT RIS | EIRER X 3
B2 = o | R 2 © R T X 1
TR E (100 5)
R | BERIRTRA X 115 — SRR SRR S B
s 7 R 2
B R | mhd | Eaeso | weew
= ([ 33 o = (F14 7 6 o
Bl & 35 (P (Iia s | 2096 635 (1) 1]k 5096
45 (P IS | 309
| = AR ST BEPORE LY 2500 (A RES AT
= IM%%?F@O =S PACT {1 S R TR SRS L, R T I B

w5wﬂ$ﬁ*%W’W5Hw7“@ﬁ
S BT R GRS PSR 0 L B GE 2,001 A/
2 TP TR RAS S A& | 2 T e R R IR RIS TG 5,001 7K
AR -
pH - ¢%@@WW*$%%@§@@W%~jwﬁ%wﬁ3m
:~\V%P@~4¢wm
C TR R %§FW$iﬂﬁﬁﬁi@%ﬁﬂﬁ@%@ﬁ@@%%$ﬁﬁio

(e ~ el fd * Fea i o

PR BHEY

T T LT 5 1335 97110745




